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Zad. 1 

a) 

5 512
13 13 12

512 12
513 13

sin ,  cos ,  tg

sin ,  cos ,  tg

  

  

= = =

= = =
  

 

b) 

3 34
5 5 4

34 4
5 5 3

sin ,  cos ,  tg

sin ,  cos ,  tg

  

  

= = =

= = =
 

 

Zad. 2 

a) 724
25 24

cos ,  tg = =   

b) 12 12
513

sin ,  tg = = −  

c) 8 8
17 15

sin ,  tg = − = −  

d) 34
5 5

sin ,  cos = − = −  

 

Zad. 3 

a) 
2


  

b) 
2

3


  

c) 
3

4


 

d) 
5

3


  

 

Zad. 4 

a) 75   

b) 150   

c) 210  

d) 225   
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Zad. 5 

a) 1   

b) 1
4

3   

c) 
3 2 2 3 3

6

− −
  

d) 1   

 

Zad. 6 

a) tak 

b) nie 

c) nie 

d) tak 

 

Zad. 7 

a) sin 0,  cos 0,  tg 0       

b) sin 0,  cos 0,  tg 0      

c) sin 0,  cos 0,  tg 0      

d) sin 0,  cos 0,  tg 0      

 

Zad. 8 

a) ( )270 ,360      

b) ( )0 ,90     

c) ( )180 ,270     

d) ( )90 ,180     
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Zad. 9 

a) 34 4
5 5 3

sin ,  cos ,  tg  = = =  

b) 5 512
13 13 12

sin ,  cos ,  tg  = = − = −  

c) 3 34
5 5 4

sin ,  cos ,  tg  = − = − =  

d) 15 8 15
17 17 8

sin ,  cos ,  tg  = − = = −  

 

KONIEC 


